Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name : Operating System
Subject Code : 4TE04OPS1 Branch: B.Tech (CE,IT)
Semester : 4 Date : 15/05/2017 Time : 02:00 To 05:00 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

1)  Which one is not Operating System?

A) DOS B) LINUX C) WINDOWS D) ORACLE
2) In producer-consumer problem, when buffer is empty has to wait
A) Producer B) Consumer C) None D) Both
3) If resources are always preempted from the same process, can occur.
A) Deadlock  B) Aging C) Starvation D) System Crash
4) Logical memory is broken into blocks of the same size called
A) Page B) Frame C) Virtual Block D) None of the above
5) Process creation in UNIX is done by
A) New() B) Fork() C) Make() D) Parent()
6) The address of the next instruction to be executed by the current process is
provided by .

A) CPU registers B) program counter C) process stack D) pipe

7) The disadvantage of a process being allocated all its resources before beginning

its execution is .

A) Low CPU utilization B) Low resource utilization
C) Very high resource utilization D) None of the above

8) The number of processes completed per unit time is known as .
A) Output B) Throughput  C) Efficiency D) Utilization

9) What is Full Form of PCB?
A) Process Control Block. B) Process Control Board.
C) Process Communication Block. D) All of Above.

10) What is the use of pwd Command in UNIX?
A) Print Working Directory. B) Change Working Directory.
C) Removes File. D) Create New Directory.

11) The is used as an index into the page table.
A)Frame No  B)Page No C) Offset D) None of the above
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12) A process can be terminated due to

A) normal exit B) fatal error
C) killed by another process D) All of the above
13) Which of the following page replacement algorithm suffers from Belady’s
Anomaly?

A) Optimal B) LRU C) FIFO D) None of the above
14) A solution to the problem of external fragmentation is
A) Compaction B) Large Memory Space
C) Large Block Size D) Less No. of Process

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-6

Q-7

Attempt all questions
a) State different types of operating system. Explain any one of them
b) Draw process state diagram. Explain each transition among them in detail
c) What is Deadlock? Explain deadlock conditions
Attempt all questions
a) What is PCB? Explain its fields.
b) Explain Producer — Consumer problem
c) Following table gives arrival time and expected run time of five processes.

Process Expected Run Arrival Time
Time (Sec) (Sec)
P1 8 1
P2 1 4
P3 2 2
P4 1 5
P5 5 6

Ignore process switching overhead. Find average turnaround time for Round
Robin Algorithm (quantum = 2 sec)
Attempt all questions
a) Explain Segmentation using diagram
b) Explain Paging with diagram.
Attempt all questions
a) Describe RAID levels
b) Consider the following page reference string:
1,2,3,4,2,1,5/6,2,1,2,3,7,6,3,2,1,2,3,6
Assuming four empty frames, how many Page Faults would occur for the
following Page Replacement Algorithms:
e FIFO Page Replacement
e LRU Page Replacement
Attempt all questions
a) What is I-node? Explain in detail.
b) Write short note on Fragmentation
c) Explain Access Matrix
Attempt all questions
a) Explain File attributes and File operations
b) Discuss Directory Structure
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b)
c)

Attempt all questions
Explain following Commands in UNIX
e chmod
e grep
Explain Trojan Horse and Logic Bombs.
Write a Shell Script to find factorial of given number
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